I4vI0IFJ/—A R

(FHEBIRR)

SQE. SQE1. SQE2
QE2. QE3. QE4. QES

20

—=m = "
E ) (FENRIEE & FERRAE
By
BEESAE L ERT3HBE Vv MLRELTERT 354
@ @A TURES @iaSUREE (A)
P— R
L SOV T A o
A
A
R R
1B f%3X| SQE |SQE1|SQE2| QE2 | QE3 | QE4 | QE5 - S
caismrg || M5x |Ro/8 | Ro4 |Ro4 |Re3/8 | Rot/2 |Re3/4 @RS @SR (B)
i R 08 | Rcl/a Rc3/8 Rc3/4 b
N N L P—A|l 25| 21 | 30 | 50 | 60 | 120 | 140 b
RRBER T o5 [ 28 | 37 | 50 | 60 | 140 | 160
) P—a| 012001 [132| 25 | 28 | 58 | 68 A A
MER &
RERE OV T 012 (123 166 | 25 | 28 | 68 | 78
{ERRAE TR
ERENHE MPa| 008~09 0.07~09 R R (P)
{REETHE A MPa 1.35
fREERE . Ny
(BESHL UG  C 5~60 - HE
S (EESEE Hz 10 SQE SQE1. SQE2 QE2, QE3. QE4. QE5
e = Ak e BRA(F 0 X b TIEE
HE gl 10 80 | 120 [ 430 (= mpo%)
FA4YT 5L AL | BRIL(ILEY) | ARTIL (TLEY)
RHO7 % — TIWIEE(TIZA L) TILIEE
o>y = AR dL AL
ENES
E
Sa EoEEROR QE EoEEROR
LA - M5%0.8 2 :Rcl/4
1:Rc1/8 3:Rc3/8
2:Rcl/4 4:Rcl/2
5: Rc3/4
?.I'iﬁ (mm)
@SQE @SQE1 @QE2 @®QE4
@SQE2 ®QE3 ®QE5
34.5
o . @5 37 ZINF 1839
205 | o % RINF 1824 %
1 e & e/
2 O TN G FeaN
N " il AN RS
i /E 30
QE4 2-Rc1/2
SQE1 RC1/8(P'A27J‘Eﬁ) QES5 2-Rc3/4
b SQE2 Rc1/4(PA2DFT) )
b QE2 Rc1/4 (P-A21FR) iR
[ QE3 Rc3/8 (P-A2»°Fh)
o I
RN R ol LIl
- )= \ o © =
[o¢] " "
[l | 8-mM5%0.8 8 dLE
P Rc3/4 {120 R 46
R 79
1316

2014 10



e

SQE
oA s
A—R %° ~ RES MPar
K08 e 3
o7~ c
7 0.
08 o0 \
%05
AR
E \Qh\
5 03 <n¢\
MPa o.z-<\3, :\
0.1 <o
N
0 100 200 300
#& £ /min (ANR)
SQE2
P—A I
0.9 = BHEESH MPa
" 0.8 \\\0.3
07 cg\ N
& 00 TSI
o 05 _5\\
E 04 Yﬂ
7 0.3 03N
MPa 0.2 \-"
0.1 0.5.‘\ !
0 1000 2000 3000
7 & 2 /min(ANR)
QE4
P—A 09 7 !(ﬂ EH MP‘a,
) 09
K 08 153
Voo o7
7 06 yS N\
H
o 0.5 \A 5
04 =L
0.3 —2
2 02
MPa 0.2 2 \
01 R |
0 2000 8000 14000

JE £ /min (ANR)

RHRICET HI5E

DK%

BRIV THOES

w00 HEHAEH0.5MPaTHE125 2 /min(ANR)

30.4MPat L &,

A—

=)

BHEESN MPa

VA7

0
.3

FATAViN

/O
3
/|

S SAOELES
o
»
|

=
INy/<3

0.1 e

1000 2000 3000

7 8 £/min(ANR)

09
08

[
BHEES MPay

/

07

0.9

06
05

VATV

(<)
o fo
LA

04
03

N
0.
Q.

w/o
=

—~
02~
0.1

|

0.1 :

0 2000

8000 16000
B £ /min (ANR)

SQE1

QE2

P—A

QE5

nY
I

<

MPa 0.2

0

0.9

0.7
0.6
0.5
0.4

-~
< 2.

0.2
0.1

0

SHAOEN

0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

S SAOECLSES

02000 8000

3 EJ] MPa—

=

1000 2000 3000

FE £ /min (ANR)

0.6 \

o
KO0

|
000 4000 6000
7 8 ¢/min(ANR)

HHGESH MPa

0.9
™0

.7

o

N
N
BNAY

N

E7AVAVAVININ

)

[

7 8 4 /min(ANR)

>
|
SHOEVES

ne
[

16000

SL
/

=]

/
/

\

|

1l

1000 2000 3000
F® £ /min (ANR)

Pa

P =
o>
H
o

AV
B

0 2000 4000 6000 8000
# 8 2 /min(ANR)
]
0.9 ~ #%ﬁg&h MPa
0.8 — 9
07 \\ 0.
06 S
’ T06
05 N5
0.4 RN
0.3 o \\
0.2 <9
0.1 ON\] [ ‘l
02000 10000 18000

7 & £/min(ANR)

S
2 JRE L |EHESRE MPa SQE1 SQE2 QE2 QE3 QE4 QE5
164 0 - 055 0.35 0.33 0.17 0.13 — —
0.7—0.14 0.32 0.22 0.16 0.10 - -
164 0 — 055 35 23 1.80 1.50 0.537 0.508
0.7— 0.14 32 22 1.50 0.90 0.440 0.417
A IEREELE. 0.7MPan R EL2 T RIZ0N50.55MPak TIC, Fitd 3R TY,
BESBSREEIE. 0.7MPanZRE27AHNS0.14MPaxTIZ, KT 28R TY,
1317

2014 10



	M_1316-1318_クイックエグゾースト弁

